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PROBABILITY

Case Study Passage Based Questions

1. Three friends A, B and C are playing a dice

game. The numbers rolled up by them in their

first three chances were noted and given by

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_83eZfr4kT6wV


 and 

as A reaches the cell 'SKIP YOUR NEXT TURN' in

second throw. 

 


based on the above information, answer the

following questions. 

 =

A. 

B. 

A = {1, 5}, B = {2, 4, 5} C = {1, 2, 5}

P (A ∣ B)

1

6

1

3

https://dl.doubtnut.com/l/_83eZfr4kT6wV


C. 

D. 

Answer: B

View Text Solution

1

2

2

3

2. Three friends A, B and C are playing a dice

game. The numbers rolled up by them in their

first three chances were noted and given by

 and 

as A reaches the cell 'SKIP YOUR NEXT TURN' in

A = {1, 5}, B = {2, 4, 5} C = {1, 2, 5}

https://dl.doubtnut.com/l/_83eZfr4kT6wV
https://dl.doubtnut.com/l/_czHCuS9vZsKy


second throw. 

 


based on the above information, answer the

following questions. 

 =

A. 

B. 

C. 

D. 0

P (B ∣ C)

2

3

1

12

1

9

https://dl.doubtnut.com/l/_czHCuS9vZsKy


Answer: A

View Text Solution

3. Three friends A, B and C are playing a dice

game. The numbers rolled up by them in their

first three chances were noted and given by

 and 

as A reaches the cell 'SKIP YOUR NEXT TURN' in

second throw. 

A = {1, 5}, B = {2, 4, 5} C = {1, 2, 5}

https://dl.doubtnut.com/l/_czHCuS9vZsKy
https://dl.doubtnut.com/l/_6eQt0zEXIizR


 


based on the above information, answer the

following questions. 

A. 

B. 

C. 

D. 

P (A ∩ B ∣ C) =

1

6

1

2

1

12

1

3

https://dl.doubtnut.com/l/_6eQt0zEXIizR


Answer: D

View Text Solution

4. Three friends A, B and C are playing a dice

game. The numbers rolled up by them in their

first three chances were noted and given by

 and 

as A reaches the cell 'SKIP YOUR NEXT TURN' in

second throw. 

A = {1, 5}, B = {2, 4, 5} C = {1, 2, 5}

https://dl.doubtnut.com/l/_6eQt0zEXIizR
https://dl.doubtnut.com/l/_ZVcvTJeSTRou


 


based on the above information, answer the

following questions. 

A. 

B. 1

C. 

D. None of these

P (A ∣ C) =

1

4

2

3

https://dl.doubtnut.com/l/_ZVcvTJeSTRou


Answer: C

View Text Solution

5. Three friends A, B and C are playing a dice

game. The numbers rolled up by them in their

first three chances were noted and given by

 and 

as A reaches the cell 'SKIP YOUR NEXT TURN' in

second throw. 

A = {1, 5}, B = {2, 4, 5} C = {1, 2, 5}

https://dl.doubtnut.com/l/_ZVcvTJeSTRou
https://dl.doubtnut.com/l/_QT3u1svZ6jqC


 


based on the above information, answer the

following questions. 

A. 0

B. 

C. 

D. 1

P (A ∪ B ∣ C) =

1

2

2

3

https://dl.doubtnut.com/l/_QT3u1svZ6jqC


Answer: D

View Text Solution

6. In a play zone, Astha, is playing crane game.

It has 12 blue balls, 8 red balls, 10 yellow balls

and 5 green balls. If Astha draws two balls one

after the other without replacement, then

answer the following questions. 

https://dl.doubtnut.com/l/_QT3u1svZ6jqC
https://dl.doubtnut.com/l/_GTTbxngDs3Lf


 


What is the probability that the first is blue

and the second ball green ?

A. 
5

119

https://dl.doubtnut.com/l/_GTTbxngDs3Lf


B. 

C. 

D. 

Answer: C

View Text Solution

12

119

6

119

15

119

7. In a play zone, Astha, is playing crane game.

It has 12 blue balls, 8 red balls, 10 yellow balls

and 5 green balls. If Astha draws two balls one

after the other without replacement, then

https://dl.doubtnut.com/l/_GTTbxngDs3Lf
https://dl.doubtnut.com/l/_atNyn4IRalqW


answer the following questions. 

 


What is the probability that the first ball is

yellow and the second ball is red ?

https://dl.doubtnut.com/l/_atNyn4IRalqW


A. 

B. 

C. 

D. 

Answer: B

View Text Solution

16

119

8

119

24

119

64

119

8. In a play zone, Astha, is playing crane game.

It has 12 blue balls, 8 red balls, 10 yellow balls

and 5 green balls. If Astha draws two balls one

https://dl.doubtnut.com/l/_atNyn4IRalqW
https://dl.doubtnut.com/l/_zDr6exCJMe8r


after the other without replacement, then

answer the following questions. 

 


What is the probability that both the balls are

red ?

https://dl.doubtnut.com/l/_zDr6exCJMe8r


A. 

B. 

C. 

D. 

Answer: A

View Text Solution

4

85

24

595

12

119

64

119

9. In a play zone, Astha, is playing crane game.

It has 12 blue balls, 8 red balls, 10 yellow balls

and 5 green balls. If Astha draws two balls one

https://dl.doubtnut.com/l/_zDr6exCJMe8r
https://dl.doubtnut.com/l/_s3C0wI0bkXKb


after the other without replacement, then

answer the following questions. 

 


https://dl.doubtnut.com/l/_s3C0wI0bkXKb


What is the probability that the first ball is

green and the second ball is not yellow ?

A. 

B. 

C. 

D. None of these

Answer: C

View Text Solution

10

119

6

85

12

119

https://dl.doubtnut.com/l/_s3C0wI0bkXKb


10. In a play zone, Astha, is playing crane game.

It has 12 blue balls, 8 red balls, 10 yellow balls

and 5 green balls. If Astha draws two balls one

after the other without replacement, then

answer the following questions. 

https://dl.doubtnut.com/l/_52rv7qz4wSpw


 


What is the probability that both the balls are

not blue ?

https://dl.doubtnut.com/l/_52rv7qz4wSpw


A. 

B. 

C. 

D. 

Answer: D

View Text Solution

6

595

12

85

15

17

253

595

11. Ajay enrolled himself in an online practice

test portal provided by his school for better

practice. Out of 5 questions in a set-I, he was

https://dl.doubtnut.com/l/_52rv7qz4wSpw
https://dl.doubtnut.com/l/_BfR64TkUZMOK


able to solve 4 of them and got stuck in the

one which is as shown below. 

 


If A and B are independent events,

 and , then answer

the following questions. 

A. 0.2

P (A) = 0.6 P (B) = 0.8

P (A ∩ B) =

https://dl.doubtnut.com/l/_BfR64TkUZMOK


B. 0.9

C. 0.48

D. 0.6

Answer: C

View Text Solution

12. Ajay enrolled himself in an online practice

test portal provided by his school for better

practice. Out of 5 questions in a set-I, he was

able to solve 4 of them and got stuck in the

https://dl.doubtnut.com/l/_BfR64TkUZMOK
https://dl.doubtnut.com/l/_zLlWrEjGhZgI


one which is as shown below. 

 

If A and B are independent events,

 and , then answer

the folloqing questions. 

A. 0.92

B. 0.08

P (A) = 0.6 P (B) = 0.8

P (A ∪ B) =

https://dl.doubtnut.com/l/_zLlWrEjGhZgI


C. 0.48

D. 0.64

Answer: A

View Text Solution

13. Ajay enrolled himself in an online practice

test portal provided by his school for better

practice. Out of 5 questions in a set-I, he was

able to solve 4 of them and got stuck in the

one which is as shown below. 

https://dl.doubtnut.com/l/_zLlWrEjGhZgI
https://dl.doubtnut.com/l/_0daQkLSekqq7


 

If A and B are independent events,

 and , then answer

the following questions. 

A. 0.14

B. 0.2

P (A) = 0.6 P (B) = 0.8

P (B ∣ A) =

https://dl.doubtnut.com/l/_0daQkLSekqq7


C. 0.6

D. 0.8

Answer: D

View Text Solution

14. Ajay enrolled himself in an online practice

test portal provided by his school for better

practice. Out of 5 questions in a set-I, he was

able to solve 4 of them and got stuck in the

one which is as shown below. 

https://dl.doubtnut.com/l/_0daQkLSekqq7
https://dl.doubtnut.com/l/_g6Ho6o8R3wf2


 

If A and B are independent events,

 and , then answer

the following questions. 

A. 0.6

B. 0.9

C. 0.19

P (A) = 0.6 P (B) = 0.8

P (A ∣ B) =

https://dl.doubtnut.com/l/_g6Ho6o8R3wf2


D. 0.11

Answer: A

View Text Solution

15. Ajay enrolled himself in an online practice

test portal provided by his school for better

practice. Out of 5 questions in a set-I, he was

able to solve 4 of them and got stuck in the

one which is as shown below. 

https://dl.doubtnut.com/l/_g6Ho6o8R3wf2
https://dl.doubtnut.com/l/_vz9X415BRglk


 

If A and B are independent events,

 and , then answer

the following questions. 

P (not A and not B) =

A. 0.01

B. 0.48

C. 0.08

P (A) = 0.6 P (B) = 0.8

https://dl.doubtnut.com/l/_vz9X415BRglk


D. 0.91

Answer: C

View Text Solution

16. A doctor is to visit a patient. From the past

experience, it is known that the probabilities

that the he will come by cab, metro, bike or by

other means of transport are respectively 0.3,

0.2, 0.1 and 0.4. The probabilities that the he

will be late are 0.25, 0.3, 0.35 and 0.1 if he

https://dl.doubtnut.com/l/_vz9X415BRglk
https://dl.doubtnut.com/l/_4r7OMk4rGlUE


vomes by cab, metro,bike and other means of

transport respectively. 

 


Based on the above information, answer the

following questions. 

When the doctor arrives late, what is the

probability that he comes by metro ?

A. 
5

14

https://dl.doubtnut.com/l/_4r7OMk4rGlUE


B. 

C. 

D. 

Answer: B

View Text Solution

2

7

5

21

1

6

17. A doctor is to visit a patient. From the past

experience, it is known that the probabilities

that the he will come by cab, metro, bike or by

other means of transport are respectively 0.3,

https://dl.doubtnut.com/l/_4r7OMk4rGlUE
https://dl.doubtnut.com/l/_uHL6bvxkmZcV


0.2, 0.1 and 0.4. The probabilities that the he

will be late are 0.25, 0.3, 0.35 and 0.1 if he

vomes by cab, metro,bike and other means of

transport respectively. 

 


Based on the above information, answer the

following questions. 

When the doctor arrives late, what is the

probability that he comes by cab ?

https://dl.doubtnut.com/l/_uHL6bvxkmZcV


A. 

B. 

C. 

D. 

Answer: C

View Text Solution

4

21

1

7

5

14

2

21

18. A doctor is to visit a patient. From the past

experience, it is known that the probabilities

that the he will come by cab, metro, bike or by

https://dl.doubtnut.com/l/_uHL6bvxkmZcV
https://dl.doubtnut.com/l/_E8XmjyR0ML3D


other means of transport are respectively 0.3,

0.2, 0.1 and 0.4. The probabilities that the he

will be late are 0.25, 0.3, 0.35 and 0.1 if he

vomes by cab, metro,bike and other means of

transport respectively. 

 


Based on the above information, answer the

following questions. 

https://dl.doubtnut.com/l/_E8XmjyR0ML3D


When the doctor arrives late, what is the

probability that he comes by bike ?

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

5

21

4

7

5

6

1

6

https://dl.doubtnut.com/l/_E8XmjyR0ML3D


19. A doctor is to visit a patient. From the past

experience, it is known that the probabilities

that the he will come by cab, metro, bike or by

other means of transport are respectively 0.3,

0.2, 0.1 and 0.4. The probabilities that the he

will be late are 0.25, 0.3, 0.35 and 0.1 if he

vomes by cab, metro,bike and other means of

transport respectively. 

 


https://dl.doubtnut.com/l/_l53phkNbRONt


Based on the above information, answer the

following questions. 

When the doctor arrives late, what is the

probability that he comes by other means of

transport ?

A. 

B. 

C. 

D. 

Answer: C

Vi T t S l ti

6

7

5

14

4

21

2

7

https://dl.doubtnut.com/l/_l53phkNbRONt


View Text Solution

20. A doctor is to visit a patient. From the past

experience, it is known that the probabilities

that the he will come by cab, metro, bike or by

other means of transport are respectively 0.3,

0.2, 0.1 and 0.4. The probabilities that the he

will be late are 0.25, 0.3, 0.35 and 0.1 if he

vomes by cab, metro,bike and other means of

transport respectively. 

https://dl.doubtnut.com/l/_l53phkNbRONt
https://dl.doubtnut.com/l/_KgTsvzldiEWK


 


Based on the above information, answer the

following questions. 

What is the probability that the doctor is late

by any means ?

A. 1

B. 0

C. 
1

2

https://dl.doubtnut.com/l/_KgTsvzldiEWK


D. 

Answer: A

View Text Solution

1

4

21. Suman was doing a project on a school

survey, on the average number of hours spent

on study by students selected at random. At

the end of survey, Suman prepared the

following report related to the data. 

Let X denotes the average number of hours

https://dl.doubtnut.com/l/_KgTsvzldiEWK
https://dl.doubtnut.com/l/_Jq6kmWfGu01H


spent on study by students. The probability

that X and can take the values x, has the

following form, where k is some unknown

constant. 

 
P (X = x) =

⎧⎪
⎪
⎪
⎪
⎨
⎪
⎪
⎪
⎪⎩

0.2, if x = 0

kx, if x = 1 or 2

k (6-x), if x = 3 or 4

0, otherwise

https://dl.doubtnut.com/l/_Jq6kmWfGu01H


 


Based on the above information, answer the

following questions. 

Find the value of k.

A. 0.1

B. 0.2

https://dl.doubtnut.com/l/_Jq6kmWfGu01H


C. 0.3

D. 0.05

Answer: A

View Text Solution

22. Suman was doing a project on a school

survey, on the average number of hours spent

on study by students selected at random. At

the end of survey, Suman prepared the

following report related to the data. 

https://dl.doubtnut.com/l/_Jq6kmWfGu01H
https://dl.doubtnut.com/l/_Q9PwE2eHwWhL


Let X denotes the average number of hours

spent on study by students. The probability

that X and can take the values x, has the

following form, where k is some unknown

constant. 

 
P (X = x) =

⎧⎪
⎪
⎪
⎪
⎨
⎪
⎪
⎪
⎪⎩

0.2, if x = 0

kx, if x = 1 or 2

k (6-x), if x = 3 or 4

0, otherwise

https://dl.doubtnut.com/l/_Q9PwE2eHwWhL


 


Based on the above information, answer the

following questions. 

What is the probability that the average study

time of students is at least 3 hours ?

A. 0.4

https://dl.doubtnut.com/l/_Q9PwE2eHwWhL


B. 0.3

C. 0.5

D. 0.1

Answer: B

View Text Solution

23. Suman was doing a project on a school

survey, on the average number of hours spent

on study by students selected at random. At

the end of survey, Suman prepared the

https://dl.doubtnut.com/l/_Q9PwE2eHwWhL
https://dl.doubtnut.com/l/_lDBkklYBsQQP


following report related to the data. 

Let X denotes the average number of hours

spent on study by students. The probability

that X and can take the values x, has the

following form, where k is some unknown

constant. 

 
P (X = x) =

⎧⎪
⎪
⎪
⎪
⎨
⎪
⎪
⎪
⎪⎩

0.2, if x = 0

kx, if x = 1 or 2

k (6-x), if x = 3 or 4

0, otherwise

https://dl.doubtnut.com/l/_lDBkklYBsQQP


 


Based on the above information, answer the

following questions. 

What is the probability that the average study

time of students is at least 3 hours ?

A. 0.5

https://dl.doubtnut.com/l/_lDBkklYBsQQP


B. 0.9

C. 0.8

D. 0.1

Answer: A

View Text Solution

24. Suman was doing a project on a school

survey, on the average number of hours spent

on study by students selected at random. At

the end of survey, Suman prepared the

https://dl.doubtnut.com/l/_lDBkklYBsQQP
https://dl.doubtnut.com/l/_4XPi2iJgSldK


following report related to the data. 

Let X denotes the average number of hours

spent on study by students. The probability

that X and can take the values x, has the

following form, where k is some unknown

constant. 

 
P (X = x) =

⎧⎪
⎪
⎪
⎪
⎨
⎪
⎪
⎪
⎪⎩

0.2, if x = 0

kx, if x = 1 or 2

k (6-x), if x = 3 or 4

0, otherwise

https://dl.doubtnut.com/l/_4XPi2iJgSldK


 


Based on the above information, answer the

following questions. 

What is the probability that the average study

time of students is exactly 2 hours ?

https://dl.doubtnut.com/l/_4XPi2iJgSldK


A. 0.4

B. 0.5

C. 0.7

D. 0.2

Answer: D

View Text Solution

25. Suman was doing a project on a school

survey, on the average number of hours spent

on study by students selected at random. At

https://dl.doubtnut.com/l/_4XPi2iJgSldK
https://dl.doubtnut.com/l/_8OJJ5yjKVXLk


the end of survey, Suman prepared the

following report related to the data. 

Let X denotes the average number of hours

spent on study by students. The probability

that X and can take the values x, has the

following form, where k is some unknown

constant. 

 
P (X = x) =

⎧⎪
⎪
⎪
⎪
⎨
⎪
⎪
⎪
⎪⎩

0.2, if x = 0

kx, if x = 1 or 2

k (6-x), if x = 3 or 4

0, otherwise

https://dl.doubtnut.com/l/_8OJJ5yjKVXLk


 


Based on the above information, answer the

following questions. 

What is the probability that the average study

time of students is at least 1 hour ?

A. 0.2

https://dl.doubtnut.com/l/_8OJJ5yjKVXLk


B. 0.4

C. 0.8

D. 0.6

Answer: C

View Text Solution

26. On a holiday, a father gave a puzzle from a

newspaper to his son Ravi and his daughter

Priya. The probabiliy of solving this specific

puzzle independent by Ravi and Priya are 
1

4

https://dl.doubtnut.com/l/_8OJJ5yjKVXLk
https://dl.doubtnut.com/l/_muTQZityXw5S


and  respectively. 


 


Based on the above information, answer the

following questions. 

The chance that both Ravi and Priya solved the

Puzzle, is

A. 

B. 

C. 

D. 

1

5

10 %

5 %

25 %

20 %

https://dl.doubtnut.com/l/_muTQZityXw5S


Answer: B

View Text Solution

https://dl.doubtnut.com/l/_muTQZityXw5S

